
светская, 3 
ст=О.075 Гкал/ч 
гвс=О Гкал/ч 

светская, 1 

=74 м 
=0.05 м

ст=О.075 Гкал/ч L=12 м 
гвс=О Гкал/ч D=0.05 м 

-3

Схема теплоснабжения п. Демский 

=515 м 
=0.07 м 

Котельная п.Демский 

Qот=О.656 Гкал/ч 
Qгвс=О Гкал/ч 1 .... 

ентральная, 19 
ст=О.058 Гкал/ч 
гвс=О Гкал/ч 

L=20 м 
D=0.15 м 

--, 

УТ-1 

L=57 м 
D=0.07 м 

=2.5 м 
=0.05 м 

L=145 м 
D=0.1 м 

ентральная, 13 
ст=О.075 Гкал/ч 
гвс=О Гкал/ч 

ентральная, 11 
ст=О.075 Гкал/ч 
гвс=О Гкал/ч 

=30 м 
=0.07 м 

L=16 м 
D=0.05 м 

=25 м 
=0.07 м 

L=18 м 
D=0.05 м L=30 м 

D=0.05 м 

ентральная, 17 
ст=О.075 Гкал/ч 
гвс=О Гкал/ч 

УТ-6 

L=92 м 
D=0.07 м 

=20 м
=0.05 м 

УТ-7 

ентральная, 15 
ст=О.072 Гкал/ч 
гвс=О Гкал/ч 

УТ-4 

-5

=44 м 
=0.05 м 

=61 м 
=0.1 м 

ентральная,9 
ст=О.075 Гкал/ч 
гвс=О Гкал/ч 

=35 м
=0.05 м 

=83 м 
=0.05 м 

ентральная, 7 
ст=О.075 Гкал/ч ст=о.���' 

Огвс=О, """ 


